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41 OJ0000oooood

O00000o0oOoooOogood (vectonOOO.000000D0O00DOODOO
000000 eO0O0O0O0ODO,000000000D0DO00O0 3000000003
O00.0000 @b00000000 a;,bi(i=1~3)0000,a,b000 (inner
product, scalar produci) O O (outer product, vector produd), 0 OO0 O00OO
000000000000 000000000000000000.

a-b=ab;, =|al-|b|cosb, 4.2)
axb= (Efujaibj,é‘gijaibj, €3Z'jaibj> = \aHb\ sin @ - €. (42)
000 ebdddd e, b0000,e, 0 0000 @,b0000000O0OOOO

Ooooooo,00oob e00 b00000000000000000. g%
gobbobooogbobobog,bbbuooobobod.

v 7 k| ek
1 2 3|1
2 3 11
31 2 1
1 3 2| -1
3 2 1| -1
2 1 3| -1
0

Q) o00D0DD000 @,b0000,axb=-bxaea0000000,

DO000000 e,b0000,a-(bxc)=b-(cxa)=c-(axb)000
00000 (@o00 300).

30000000 e,b0000,ax(bxec)=b-(cxa)—c-(axb)000
00000 (@oO0o 300).

4 000030000000 3000000000000 OOO.

lDoooo20000000000000000000000,00000.
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42 DO0OO0O0OO

U0 E,0000 BOODOO»0O0ODODOOODO gbO0obbOOoObD,0b0bO0
gooogog FOoogo.
F =q¢(E+vx B)

(1) E=0,v=(u,v,0),B=(0,0,B)000.000000000000000
ooo.

2 E-B=0000.00 ExB/B*000000000000OOOOOO
oo, FO0b000000D00O0DO0O0.

(3 00 (20000000 E=(0,E,0),B=(0,0,3)000,00 Ex B/B?
0oooooooooo.
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4.3 ODOOOO0OO

a=a(t)=(a(t),as(t),a3(t)) 000. 00000000 «0000000000O
oooooo.

da _ ., tth) —alt) _ (da day dag
dt — h>0 C\dtdt’dt )’
00DoOo000ooooooon.
1)
d da db
(2)
d da db
3)
d db
a(axb):d—axb~|—ax%

20020 40 280 (DO OO)



ooooi1go 22

44 0000000

000 {@oO00oo0)0oooooooo0ooooooooooooDO.ooo
FOOOOOooOO-0000O00O

F = f(r)

ooooo.oo00 fr)0O-r00000000000000.000000000
DDDDDDDDDDDDD,TX%DDDDDDDDDDDDDDD,DDDD
gilioogooooboobobooog.
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45 UJU000ooooon

oO0oboboooOooboobOo,b030b00b0bD0bU0b0wODObOOn
ggbboobuoooobboooooon.

(1) 000D0000000000000000 e,e,e5, 0000000000
00000 €,,e,,e,000.0000

O00000000.000 w=wey000.

(20 000000 r=xe;+yes+ze3=2'ej+ye,+7Zes=r" 0000000
gobbooogogbood.

dr’ r ,
E:%+wxr7
dzr,:dz—r%—wad—erwx(wxr’).
dt? dt? dt

I

ERERE

dr do , dy , di ,
R A
d2’,’, dﬂx/ ) dly/ . dZZ/ .
R TP R S TER I TER

gobbobuooooboboooon.

(3) 0000000000
dr
- _F
dt?
ooO00oo0O0oooooo.
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